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e wwmwwm Rk wmwmw BEAE | rmsm | ws
WS-01-2016 61.7 500 FE 4.76 45 =
2023.8.7 WS-01-2016 62. 1 500 = 4. 80 45 = 12. 4
WS-01-2016 62. 0 500 = 4. 70 45 =
WS-01-2016 49,7 500 = 4. 26 45 =
2023.8. 14 WS-01-2016 49. 8 500 = 4. 30 45 = 12.5
WS—-01-2016 49.8 500 = 4,29 45 =
WS-01-2016 238.0 500 = 2. 64 45 =
2023.8.18 WS-01-2016 220. 0 500 = 3.17 45 = 10.9
WS-01-2016 242.0 500 = 2. 48 45 =
WS-01-2016 90. 3 500 = 4. 15 45 =
2023. 8. 28 WS-01-2016 90. 8 500 = 4.19 45 = 11.2
WS—-01-2016 90. 5 500 = 4. 20 45 =
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WS-01-2016 26 | 400 | & 7.79 70 £ |1.17 5 = | 7250 [6-9] & | 1.09| 20 =
2023.8.18 | WS-01-2016 28 | 400 | & 8. 31 8 um 1. 06 5 £ | 7.50 |6-9] & | 1.14]| 20 =
WS-01-2016 24 | 400 | 2 7. 40 0. 96 5 2 | 7.50 | 69| & 1.1 20 =
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2 2o Cmg/L) /Ly | (mg/L) (mg/L) =
WS-01-2016 64. 1 4 = 75. 90 300 =
2023.8.18] WS-01-2016 71.4 / b 71. 30 300 b3
WS-01-2016 68. 4 / = 61.90 300 P
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iS4
HERE | RTIE | KRB | BRI | REE (FRYK P RE 50| 88 | RE | R | % | RF
(mg/L) Fr (mg/L| (mg/L) B B EER | OWREE | bRuE | IERR| WREE | kRdE | 24R
)
FWS-01-2016 7.28 40 = 0. 88 2 2 7.10 | 6-9 CEEH) | £ /| & 1 | &
2023.8.7 FWS-01-2016 7. 30 40 = 0. 90 2 = 7.02 | 6-9 (LESH) | £ /| = 1 | &
FWS-01-2016 7.29 40 = 0.89 2 = 7.00 | 6-9 (EEH) | £ / | & 1 | &2
FWS-01-2016 7. 17 40 = 0.80 2 = 7.03 | 6-9 CEEH) | £ /| & 1| &
2023.8. 14 FWS-01-2016 7. 20 40 S 0.85 2 = 6.97 |69 Cem#) | & /| & 1 =
FWS-01-2016 7.19 40 2 0.83 2 = 6.99 | 6-9 CEEH) | £ /R 1| &
FWS-01-2016 12. 00 40 = 0.37 2 = 7.00 | 6-9 (ToEH) | & 8 /| =& [ o078 1 =
2023.8.18 FWS-01-2016 11. 00 40 = 0. 35 2 = 7.00 | 6-9 (EEHN) | £ 6 /| 2= [ 0.89 1 =
FWS-01-2016 14. 00 40 = 0. 39 2 = 7.10 | 6-9 (CE&EHH) | & 11 / | /& | 0.83 1 =
FWS-01-2016 7.52 40 = 0.89 2 = 7.10 | 6-9 (GEH) | & /| & 1 =
2023. 8. 28 FWS-01-2016 7. 60 40 = 0.85 2 = 6.98 |69 CEEHM) | £ /| &= 1 | &
FWS-01-2016 7.58 40 = 0. 88 2 = 6.99 |6-9 CE&EH) | £ /| R 1 &
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e |ReAsh| KORS, [—petiIrE WWET [T e A SR (ne/1) | RE A
1 A HEN 1 - www&mﬁm 32. 27805 EFEEELEl 80 |2023.8.28 2.57 2
9 ESHO FQ—01-2016 119. 83472 33. 27805 b A /i 2023. 8. 28 0.03 2
3 ESHEO FQ—02-2020 118° 50°05” | 32° 16 36” R EE 80 2023. 8. 28 1.62 3
4 ESHEO FQ—02-2020 118° 50°05” | 32° 16'36” iR 2023. 8. 28 0.04 2
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\M 1 | EFfRER 4 2023.8.28] 0.56 |£

201112935 3 RE R 0.1 2023.8.28| 2.76 |&
3 R Z ke 0. 04 2023.8.28| 2.1 |&
. 4 KW 0.5 2023. 8. 28 <0. 0015 | &
1 "R ERA 14 jﬁﬁﬁﬁ 5 7 B 0.15 2023.8.28| <0.04 |&
6 ETHE 0.5 2023.8. 28| <0.04 |/
7 Gkt 1.5 2023.8.28| 0.09 |&
8 AL 0. 06 2023.8.28| 0.002 (£
9 REKRE | 20 CEE4D  |2023.8.28] <10 |&
1 ERREE 4 2023.8.28| 0.52 |&
2 HE AR 0.1 2023.8.28| <0.3 |/
3 BRIk 0. 04 2023.8.28| <0.3 |/
4 LI 0.5 2023. 8. 28/ <0. 0015 | &
2 J 5T Ra2# j(b“;ﬁﬁﬁ 5 P4 B 0.15 2023.8.28| <0.04 |2
Al
6 ETH 0.5 2023.8. 28| <0.04 |/
7 HE 1.5 2023.8.28) 0.12 |[B
8 kA= 0. 06 2023.8.28] 0.003 |&
9 RERE | 20 (BB [2023.8.28] <10 &
1 | EFRER 4 2023.8.28) 0.49 |&
2 Ak 0.1 2023.8.28| <0.3 |/
3 BRIk 0. 04 2023.8.28| <0.3 |/
- 4 FEW 0.5 2023. 8. 28| <0. 0015 | &
3 I~ 5 F R A 34 jﬁfdﬁiﬁ*ﬁ 5 75 455 B 0.15 2023.8.28| <0.04 |2
6 ETE 0.5 2023.8.28| <0.04 |/
7 2R 1.5 2023.8.28| 0.13 |R&
8 Wit & 0. 06 2023.8.28| 0.006 |2
9 RRE | 20 (EEH)  [2023.8.28] <10 &
1 EFREE 4 2023.8.28| 0.45 |&
2 HE Ak 0.1 2023.8.28| <0.3 |/
3 HE 2k 0. 04 2023.8.28| <0.3 |/
4 W 0.5 2023. 8. 28] €0. 0015 |
4 I~ 5T R 44 kq;ﬂﬁiﬁ*ﬁ 8 P4 B 0.15 2023.8.28| <0.04 |B
6 ETHE 0.5 2023.8.28| <0.04 |/
7 "= 1.5 2023.8.28| 0.16 |&
8 i fb & 0. 06 2023.8.28| 0.005 |8
9 REKRE | 20 (EEH)  [2023.8.28] <10 |B
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